a.?ﬂiyﬁia}ﬁ%

Bimﬂhﬂn& {3.‘11 1153 : In these quesnfms a number |

Directions {119-123) .

Hefer to the table and answer

the given questions.

Data related {o performance of § hatemen in a
iuurnameni

-

il i e

Name of | Number of ﬂttrd;_,f rans i Total ball Sirike |
;izfi ;;f?;f?;g SS;IE; ;ﬂ&dnumtier is wrong which the maicilms% scored in the f.j:};i :nathﬁe raié:
ind out the wrong numaoer, Lateman | Played in e | loumament | tournament
111. 6 4 5 8.5 18 48 139 journament | .
(1) 8.5 (2) 4 A i R 129.6
°H @ 18 0 I LTI N
- e 3 | I 3
112, 10080 1440 240 48 12 3 2 c et § L8
(1) 240 (2) 3 D e e | B 72
(3) 1440 (4) 48 E 28 33 1280 ¢ .
113. 1 2 6 21 88 505 2676 _ !
{1] 2] [2] & Mote : * . 1
(3) 2 (4) 505 (i} Strike rate = (Total runs scored/ Total balls faced) x 100
(5) 88 (it} All the given batsmen could bat in all the given
114. 18 21 25 35 52 78 115 matches played by them.
(1) 25 (iii}) Few vahues are missing in the table {indicated by —.
(3] 28 2] 2] A candidate is expected 1o calculate the missing
5} 52 [%] 3D “.TEﬂ‘LlE if it is I‘EQUH'Ed io answer the glVE‘ﬂ E]UESHDH
115 [ 2} ; on the basis of the given data and information.
180 137 178 240 200 95 407 119. The respective ratio hetween total number of halls
(1} 178 [3] 137 faced by D and that b}; F in the tournament is 3 : 4.
g} Egg (4) 375 Total number of runs scored by F in the tournament is
- ' what percent more than the total runs scored by D in
116. Areaof arectangle is 150 m®. When the breadth of the the tournament ?
same rectangle is increased by 2 m and the length | el 4
=] 9 b
decreased by 5 m, the area of the rectangle decreases (1) 229% 2) 329 2
by 30 m*. What is the perimeter of the square whose 8 4
sides are equal to the length of the rectangle ? | (3} 189 - 4 Mg &
{1) -T&.m (2] 72 m (5) ZBE%
- (3} 120 m. (4) 80 m . 9
(5) 60 m. _;{_Zﬂé._if the runs scored b}r E in last 3 matches of the
117. A.'B’and’C started a business with investments of| lourigmen; Jre gt qusld;emd his average runs
g @ 260/~ T 3 ﬁﬂﬂ/ and 72 400/~ respectively. After - scored in the tournament will decrease by 9. If the
- 4 months from the start of the business, A invested runs scored by E in the 26th and 27th match are
% 1,000/~ more. “After & months from,the start of. the ~ below 128 and no two scores among these 3 scores
- busmess BandC iﬂvested additional amounts in ‘thet o z;:gifgzhi : a;;bﬂlfat:;glmum possible runs
respective ratio of 1 : 2. I at-the end of 10-months |~ - (1) 137  (2) 135
 they received a profit of ¥ 2 ,820/- and share in the | (3) 141 (4) 133
... .profit was 1, ZE{}! W%aai was ﬁlﬂ addmﬂnai amauﬂt - (5) 139 |
i that&zﬂvﬂstad e " | (121, In the tournament, the total number of balls faced by
e ) 800" .. { }% 29{}‘! - batsman A ‘is 74 less than the total number of runs
e BT 599/“ ' i }% ﬁﬂﬂf .~ scored by him. What is the average run scored by
- B)%%0-.. © iw bl o) batsman A in the tournament?
118. A Vessel m&tams a mm:ﬂ'e ﬂf ﬂlﬂfk E‘ﬂd watea: Iﬂ th& L ;:[i] 42,5 T (2) 395
- respective ratio of5 01 24 hire E}fmtui%ﬁ‘y#ag tﬂ}_{ﬁﬂ (3) 38 - 3 {.%}: Al
. out and repiaueé. w‘i‘t%i t};;e sama (5) 40. 5 -
‘that the resultant ratio between the qu ilic| 122. Batsman B faced s qual number of balls in first 10
ané wai:&f in tha H’ 's '_ atchies he ’_?h?Eé in'the tournament and last 1€
| matches he played in the tournament. If his strike
Whﬁf is ﬁ'iﬂ Wmﬁiﬂiﬁ ﬁ%ﬁ n fifst 10 matches and last 10 matches of iif
5 {m iitrﬁ} %_ﬂt are, 13@ and 150 respectively, what is ti
S (), 97 @ mber of balls faced by him in the tournament
e . 46 o (2) 1400
B A v {4) 1060



:am

played by batsmap

What is the Number gf Match,
dirhes

_'____-1::}umament’ 8 o
“.__':{“i] 10 2] 16
an (4) 18

F%E%_ . i‘;ﬂ mﬂn can “Omplete a project in

Cdays, 12 children eap

.. :_...__;.:IE{:H’J.FIETE the same project in

_ 1B6days and g women can |

-' '::'i:_.jr“‘{}ﬁlpiﬁ te th
' sia}'ﬁ
_:j_.:_'__'sé;aried wnrklng on the project. If |
:.-aﬂer 4 days, 8 child
-ﬂ-.._feplaEEd BY 4 women,

. ____--ma?ay days the remaining project
..__was ccmpieted? o

125.

'J‘ﬁﬁ

‘gqual to the sum of the present

| :;'ff:ﬁﬂlighiﬂl* Five vears hence, the
.respective ratio between the ages

;%ﬁﬁhli‘f pmaeni age is three times

s '-':':.'-

:.- .%. . . ; ]'

(1) 4000

;.{:'J_';:':_'i}:;;e present  age of the

©:8ame project in 20
S men and 12 children |

el were
In how

_{5}EE%;HL3§£gjjﬁghgﬁgggjﬂfﬂﬁig}ﬁ;f

-z = o aﬁﬁd E:hat in i}ﬁwarﬁli}f E in ﬁzﬂ -
n a vﬁlage EG% feglstered___ . year 2001 o
voters cast th@ﬂ‘ votes in they *'-[Nﬁtﬁ Umversmes A Eﬂﬂ E

election. E}ni}f two Eandiﬁatas (A

and B) were contesting the -
election. A won the election by |

600 votes, Had B IEEEWEd 40%
more ‘*‘JDI{EE
have been a tie, How many
registered voters are ﬂ1ere in the
village?

(2) 3500
(3} 3060
(4) 3250
(5) 3750
Eight vears ama Poorvi's age was

~sages of her one son and one

ﬁﬂlﬂi‘ daughter and her son that
'_ﬁfﬂ w*lﬂ be 7 : 6. If Pﬁﬁwz §
- the }Iﬁ?ﬁﬂﬁﬂt age of their son, what

.....

."‘"j;ﬁga &ﬁw%xem i*fmﬂi_

the result would|

travel upstream from Point Y to
Point Z. The distance between X
and Y is 20 km, which is half of
the distance betwesn Y and Z.
The speed of Boat B in still water
is 10kmy/h and the speed of Boat
A in still water is equal to the,
speed of Boat B upstream. What
is the speed of Boat A in still
water? (Consider the speed of the
current to be the same. ] i

(1) 10 km/h

[M1ﬁkmm

[3] 12 kmfh
[5] 15 k‘ﬂlfh L

_fﬂifﬂf:ﬁ.}{aﬁﬂ {12% 13’3‘} Siuﬂ'r then
5 ﬁ'}ﬁﬂwmg in ﬁ:}rm&tmn E‘EI‘EﬁJH} '
Z--_and answer the given quesimﬂs

Eaia rﬂgartﬁinﬁ number ﬂf
appizﬂaﬂﬁﬁs res:&w&d for

. ?ﬂriﬂus courses in Hnwﬁrﬂty 1‘% 3? e

~ offer courses in six courses only, |

namely, Commerce, Science.
hﬂgiﬂﬁﬂﬂﬂg, Aris, Management
and Law.)

In University A, applications
- received for Commerce, Science

and Engineering together
constituted 70% of the ftotal
number of applications received
(for all the given courses
together]. Applications received
for Arts, Management and Law
were 800, 750 and 400
respectively. Applications
received for management were
40%  less

Engineering. ﬂﬁ?ﬁﬂ&hﬁﬁs-:'

i fi_jij'_;":'.i'j_;.fffﬂr only commerce in Uni wers;ﬁ .
Lo Bis what pﬂ:n:ern less h"iaﬂ n ai

e

ﬁlﬁ:ﬂ t}lﬁf for a1

Managemeni Were
double the total number of
applications received for Arts
and law together. Applications
received ior Engineering were
equal to that for Management.

togetner,

What is the respective ratio
between the total number of
applications received for
Engineering and Science

together in University A and that
ior the same courses together in
University BY
(1) 8D : 47
(2} 85 ; 53
8)52:37.
(4)85:42 .
P 0w
::.“"JLEI}}EE of appnﬂaimns recezvﬁﬁ"f

:f-:..:.':_f'_:"r;a. Umveraﬂ}? At '-fi' -

'fj[a}iaA%:

130 gﬂl of the number of applications

for Arts in University A were
female students. If the number of
female applicants for the same
course in University B is less
than that in University A by 120,
what s the Humhﬂr ﬂi’ Iﬂﬂi&’jj{_
Umﬁ:-"ﬁ&raiw B‘? i

........

received for Commerce: were ZE% .

mﬁre thax:r %hai. £ﬂr Bﬂmﬂaﬂ.

D

e
SR
SRR R
L




133

iHirectione 1133-137}

BRefer to

the pie charts and answer the
given questions.

Distribution of fotal number of
members (hoth male and
female) in 5 health clubs in 2011
Total number = 8300

Distribubion of total number of
male members in 5 health clubs
i 2041
Total number = 3600

B
8% A
D 249%
209
C B
18% 30%

Only 25% of the members (both
male and female) in health club
D have lifetime membership. If
the number of females'in health
club D who have lifetime
membership is 126, what

percent of male members in|

health club D have lifetime
memberamp

g
. 3:‘-—';?__.5% ) 2e e
(3] 20 E% (4). ,?.f_ﬁ o
h gs} 24 -ji%

134.

135.

What is the averaga Huzﬂher of |

female members in: hﬂﬂﬁh ﬂlubs
A BandCt @ oo

(1)564 . (2) 572 ..
(3) 568 ':.{@3;5&3 .
(5) 588

Number ﬂf rﬂala mami}ers i
 health clubs A aﬂd G iﬂcraasﬁd

- hy Equai ﬂurnbar fmm 2!,311 to

| 2012. If the respﬁr.:ima ratio

ﬂf mala

hetwaﬂﬂ Eﬂﬂ'ﬂi}ﬂr

o -ﬁ;aatmcmzﬁizzsm 10, what

138,

137,

138,

is the number of male members |

in health club C in 20127

(1) 690 (2) 750

(3) 720 (4) 740

(5] 780

What is the ceniral angle
corresponding to number

(hoth male and femaie)} in health
ciub BY

(1) 118.8° (2) 112.6°
(3) 124.8° (4] 116.4°
(5) 128.4° -

Numbher of female members in

health club E is what percent less
than number of male members in

health club B?

2 1
1) 56 — 2) 54 =
1) 56 =% (2] 3%
2 1
# i iy
(3) 6O : (4] 64 3%
2
5) 48 —
(3] =

Rohan travelling at & speed of
g Eu'nfh took 2 hours 30 min fo

COVET -é-rd of the distance.

- Travelling at a speed of X + 2’

km/h, he took 50 min to cover
the remaining %rd of the same

distance. What was the total
distance?
-] 21 km (2) 15 km
{3) 30 km {4} 9 km
(5) 24 km

139.

140,
‘years in scheme A ‘offering
simple-interest at: }{% p.a, and in |

Ram bought two artlcies- A and
B at-a total cost of ¥ 8,000/-. He
sold arficle A at 20% profit and
article B -at 12% loss. In the

- whole deal he made no gain and

no loss. At what price should
Ram have sold. article B to make
an overall profit of 25%?

(1) T 5;200/- (2} ¥ 5,800/

(3)¥ 6,400/~  (4) T 8,250/-

(5) 2 4,260/~ o

An equal suin is 111vested for six

Scheme B for two years nffanng

" compound intérest ‘at 10% p.a.

* {conipounded - annually).

The

. interest earngd frﬂm Scheme A is

- deubletthe: Iﬂiazas*; earned from
i Scheme B, : H&d ‘the rate of
- interest: haﬂﬂ X i 2% gimple

intetest pa in dchieme A, the
__',E?'-";f_f:@ﬂ?iﬁffiﬂtﬂﬁﬁs‘tﬂ earned

e

h B 1" -:-'.
Ty g L T E:'
R i ..'._

|

=
=
L
PE
=
o

§

141.

142.

143,

144.

Dhrections {141-143]
questions, statements are given

- before:” Company - 'S

the sum invested 1n each of the
scheme?

{1) ¥ 10,000/-
(3} T 12,000/-
(5) ¥ 15,000/-

(2} ¥ 20,000
(4) 718,000/

: In these

followed by two sels  of
conclusions numbered I and 1l
These statements show
relationship  between differeni
elements. You have to assume the
statement to be true and then
decide which of the given two
conciusions logically follows from
the given information given in the
stalement.
{zive answer
{1} If neither conclusion | nor {i

is true.
(2} If either conclusion 1 or I is

irue.
(3} If only conclusion II is {rue.
(4) If both conclusions 1 and Ii

are true,
{5} If only conclusion 1 is true.
Statements :
S e Poi)k BN ReM
Conclusions: L. M<S
; IH.D>8
Statements : :
SET <P=D; PEM; R=2M
Conglusions: 1. D < R

ILR=D
Statements : : -
Lz]zll<P D<P: Us T
Conclusions: 1.LL > T
ILD<]

Read the given information and
answer the question.
Company S has launched its
stores in Country Y justa month
ago and is selling’ garmanfa at.

less than 50% ¢ost as:cormpared "

to the leading garment stores in
the country’ - However, even
could
establish itself in the country,

there have been. many protests

against the same.

- Which of the following may not

be ‘a reason for protests against

‘Company S in Country Y7

(1) It has been reported in some
of the * - international
magazines- thal Company S
relies” on child labour for

manifacturing clothes.




" given sealing arrangement, each

--_:.-@xﬁ‘ﬁm& amﬁ ﬂ-.{ the im&t

tacing severe |

(2} Despite
apposition, mag Properties
-...._-ElLf]Llll"t‘fi by Company 8 for
-setling up its ow n taclories in

- Lountry Y aye located near

- eCo-sensilive areas of 1he!
. country, |
'-.;{3] .Thf} advartisements s launched
__hy Company § in Country Y,
although  meant 1o - be
. ._..'.'.'-l.‘_]h_l_'ﬂﬂl‘l:;rllﬁ are olfensive ag
~ tney ridicule the choice of

'--.;.':E'_':'{jl{]’[h[-“'h of People in tlmé

- country. E

'_:_{‘1} Many clothes lnaﬂllfﬂf_.tllrpdi
. by C{Jmpan} S are rv]}{:rrtedlyl

_made up of g genuine leather,| 145
. which  has been bannpd in

'--_.__-:._Cc:.umry Y since the Past 10
_ yearsorso.,

distannice = between | adjacent
persons. In row 1- A, B, C, D and
E are seated and all of them are
facing south. mrow-2 . Q. R, S
and T are seated and all of them 148
- ape facing north. Therefore in the :
“inember seated in a row faces
angther member of the other row,

E.;_j_- the information given above | pattern 7 : =
ﬁﬁs ot ﬂecessa:i’ﬂ}f represent f)baikl . ﬁ o

“"the order of seating in the final (2) Surat e s e
_arrangement ] E }?afﬂﬁ

The person from Mﬁﬁfﬂﬂi sits
second to the right of the one

.%ﬁ&ﬁ faces 8. 5 dﬂes not. a:i at an
Gnﬁ {1’{

e %Mﬂbﬁl {ﬂﬂﬂﬁ '{ha

f_%&iﬁﬁ ﬁﬁ“&m ﬁaﬁahl, o

(1) The: persnn ﬁ"DI“"l E‘E}.hl

” Qﬂﬁ Wﬂ&ﬂ ﬂn:., hﬁh‘iﬁ&ﬂ the E
,-..ﬁ ﬁfﬁﬁi gﬂﬁﬂﬁﬂ Eitﬂ tﬂ {ﬁ- ::. ’-2: = =':"..;!- 5

who faces Q. Only two people sit |

between B and E.

D faces one of the immediate
neighbours of the person from

Patna. 5 is not from Fatna. 1D is
not from Mumbai, R sits second
to the left of person from Surat, A

sits third to the .right ot the

person from Chennai:

P faces one of the’immediate:

neighbours of the person. from
Jaipuir, P:does not face’ A. The
person from Delhi sits second to
the ught of ‘the: persc}n from
Bengaluru |

the person fr{:-m H}rderabad?

faces C.

(5) The person ﬁ"{ﬁ:ﬂ Hy E’LEI'E}}E.&

is an immediate ﬂalghbﬂur
oile. =

way as C is related .to ]aipnr
based on the given arrangement, |.

To who'amongst the following ig L

i

ik . | 150,
“Who amﬂngst ihe fnliﬁwmg faces |

{
_ B Manv 11‘13.“ f S {Z]D S
[_ ]_havﬁj demdzcljr; - ﬂ;:zlrﬁl;; '_ :_-::_'-_;_:'.-[3] The persc}n Ircum Chﬂnnm
prime spots to the stores of | ) The nersun “ﬂm Ran{:m -
- f'"‘c:}mpaﬂ}' S;.a8 the Cc}mpany e [ ) Bor E - .
i5 Wilimg to pay ihe Extra -__-;?if’-E_ﬁ._;"T is from w.lxch ﬁf the mlinwmg_'.
-{::harge Lo 1 _.‘_'_="-'f;1'i1aes? : 7 e
Directions {145 :&ﬂ-@} Smdy the . (1)} Patna {Z] In'dr.:-rE'
following fnfﬂrmﬂtmn curefuﬂy u:i' g: ey HydﬂfﬂbﬁJ 4} Rﬂﬂﬂhl
answer the given questions. | (5} Mumbai
Ten persons from different Eltles 147. Which of the fﬂllﬂW@g is tm..el
viz. Delhi, Jaipur, Patna, Indore,| regarding C 7 .
Mumbai, Chennai, Hyderabad, {1} C sits at an extreme end of the |
Bengaluru, Ranchi and Surat are  lime, - '
sitting in two parallel rows (@) gi? of the EWEE ﬂ?hﬂﬂs is
containing fiare.peeglze each, in S on e aiuru
such a way that there is an equal e 5 b 00

Ris I'Elﬁt&&i&ﬁlﬂﬁ?ﬁ:iﬂ the same | -

151.

lirechons [150-154): Study the
following information to answer
the given guestions.
In a cerlain code language,
e ‘'kilabx tu’ codes for ‘must adapt
and ¢hange’
e ‘gm tu dr la’ codes for ‘change a
must here’
e ‘In bx ms dr' codes for ‘here to
adapt better
'‘cx ga fn rm’ codes for ‘little better
than nothing’
(All the codes are two letter
codes only)
‘Which of the following is needed
ta arrive at a code for little'?
[1} htﬂe sweel nﬂthmg 15 cndeci"ﬂ_.__ﬁf._-‘-‘
wipedandthiergal, s
. -.:[E} ‘more. ihan Zitile is caded as
o TIROAVE. G .
"[3] nﬂthmg ma‘:s-re than 15 mdeai:’:-'-'
o ag CXTHL jﬁ' - -'_-:: :
{ 1) mothing to deniare is ceded ,
as'ldcxms’

. mothing but lttle i ﬂaded as

| x xl ga’

__'Whai does ‘em’ staﬂd for ?

(1) here

(2) Either -:hanc,e or ‘here’

(3} must

[4)a

{5] change

If ‘must bring changa is written
as ‘op la tu’, then how will ‘bring
peace here’ be possibly {‘:G{i&d iﬁ
the given ﬂefiﬂ laﬂguagﬁ’?'
(Hidiopin -
@Hadiop & A o
(3) opr m:

fﬁ} ms fﬁr ﬁF -

152,

T related to’ f{r}i@wg the same. = e

2.




5 }ﬁ }ﬁ&ﬁ-:ﬁtﬁ_f:'.' '

Directions éﬁﬁ-iﬁﬁ} Study the
given information carefully to
answer the given questions.

Eight people~A, B, C, D, E, F E G
and H live in eight different
floors of buﬂdmg (but not
necessarily in the same order)
The lowermost floor of the
building is numbered one, the
one above that is numbered two,
and so on till the topmost floor is
numbered esight. Each one of
them also owns a different car,
namely, Santro, Brio, Amaze,
Civic, Etios, Celerio, Micra and

Fabia (but not necessarily in the
same order.)

F lives on an odd numbered floor
above the floor numbered four.
Only one person lives between F
and the one who owns Amave.

The number of people living
above F is same as the number of
- people living between F and D.

Only three people live between D
and the one who owns Celerio. C
_lives on one of the odd
numbered floors ahmre the one
who owns Celerio,

Only two people hve betwaen C
and the one who owns Santro.

.4 - The one. who. ﬂwneri{:rE lives |
-+ immediately -above G G owns
ﬂﬂlﬂlﬁl’ Celerio. .nor . Santro. E

d@&s I;&‘E OWiL ?viiﬂra

o injr three pe&;}iﬁ Iwe het’ween @ " f
~ and A, The one:who owns Fabia

lives mezﬁ&t&}g above: the one

| -_wha owns Bﬂﬂ hﬂ*; :Emt on the |-

& tﬂpmusi floor. -

sl ':_: yione FEIEEE Iivﬁs hatwaﬁn
. - i:the-one 'who'ewns Fabia-and H.
49> :ry ﬂﬂﬁ person iﬁﬁaﬁ b&kwaan By

é.mi iﬁ& ane ‘Whﬂ ﬁwzla E‘-L!Gﬁ
 Whith' of iha

Esf ahve th&

ong-who owns Celerio.

| gg} F lives. m&éi&tﬁiy above C. |~

; {3} Only

three .: :peo iﬁ live
. between F and’ thga one wha
7 owns E‘ahxa . Je s
(%} All the’ gwea:? st&f&}fﬁﬁﬂm are
O Hues
(5] D owns Etios.
t the following lives

%ﬂ QImongs
cactly between H and the one

e Whﬁ owns Brio?

154.

L0

160.

161.

| f(z] JINT manﬁf&cturer& has tie-up
~ with a near-by hospital to|
pmmde medical f&{:ﬁmes for | -

. :{3] Few: emplnyaes died due to

(1) D, the one who owns Fabia
(2] A, the one who owns Amaze
(31 F, E

{4} A, The one who owns Santro
{51 E, D

Which of the following cars does
E own?

T RS A R

(1) Civic (2) Celerio
(3] Brio (4) Amaze
{51 Fahia

Your of the following five are
alike in a certain way and so
form a group. Which one of the
foliowing does not belong to the

group?

(1) G-Civic {2} C-Celerio
{3) F-Etios (4) H-Fabia
{5) D-Amaze

How many people live between
C and the one who owns Amaze?

(1) Four {2) Three
(3} Twa (4) None
{5) Five

Read the following information
and answer the given questions.

Workers of JNT Manufacturers
decided to go on strike claiming
that the management failed to
comply with the safety and
welfare norms for workers.

Which of the following

statements does not weaken the |-
- workers claims?

(1) An  in-house pmgram on
‘dealing with emergencies’
was {:ﬂﬂdus:ied by
company - in’ ﬁza Qrevmus
‘month: -

Cits: ampia}.reea as. ami when
Crequired. o ooos

.- sutfocation -at the: workplace

“affer one of ”t}:zaa huzldmgs '
.;;':_:; Hiﬂﬂﬂ*

caught fire at
 facturers. - -

{-&] No ampieyea ﬂndar thﬁ age of

30 years is allowed. to WEI‘Z{ on
_heavy

i manufamurerﬁ

iof wuall
ez;miamﬁﬂi&

mfﬂﬂﬂﬁﬂﬁ (1&3-1@?} Eﬁuaﬁf tﬁe

mhmﬂﬂ

ﬁ?ﬁﬂﬂ?&'ﬂgiﬂ}’iﬁmgﬁaﬂ E?fﬁgf ﬂnmr'

thé given tgﬂaaizﬁsﬂg foet
Ei}'ﬁ E Eﬁ Ei
gavexz differenit|
Zﬁﬂﬁptmﬂ S

Seven: ‘peopls;’
E, Fand G:
movies

the |

rﬂamhmes 111 }T*&T = -
- ) Fearless
- grratﬁeb} i}f gariaeiiﬁai review

- Only one

Titanic, Vertigo, X-Men, Fearlegs
Batman and Memento by ney
necessarily in the same order
Each people alse works in the
same office buf at a differem
department on the basis of
experience namely
Administration [ADMIN),
Marketing & Sales (M&S),
Accounts [ACL),  Production
(PO}, Quality Management (QM),
Human Resources (HR), and
Public Relations (PR}, but not
necessarily in the same order

{Please Note : Each person hag
been allocated to a depariment as
per increasing order of
experience with the one in
ADMIN  being the  least
experienced whilst the one in PR
being the most experienced.)

person  has less
experience than E The one who
has less experience than F likes
X-Men. Only one person has

_ more experience than A, The one
in HR likes Fearless. Only two

people have more experience
than the one who likes
Inception. G likes Memento and
has more "experience than the
one who likes Inception. D has
less expaﬂence ﬂi&:ﬂ the one in
PO, but more experience than

_the one who likes Vertigo. E

neither has the least experience
nor he works in QM. B does not

‘work in QM. The one who likes
: ’1‘:1‘&111{: does not wnris; in PO.

162,

As per the given arrangement,

'ﬁBMI\I is reiatafi to.X-Men and

PR is related fo Mamaﬂiﬂ in .8

_ certain, way.. To which of “the:

1163,
and|

_ﬁ._faﬂmmg ig AQC rﬁiatad t& inthe
. sameg waj,r‘? o

(1) Vertigo .
-2 Iﬁ{‘:&pﬂﬂﬂ |
" (3) Batman =

{5} Titahic

Which of the fﬂli{}mg pairs
reprasaﬂi the }Jﬁﬂpi& who have .

more experiernce thaﬂ D and less

experience than F7 .
G~ -

 {2)B,F
(3G, G

(4) E, B
(5)C, A



164,

(5] ADMIN-X-Men

186.

187.

168.

recommended the drug

‘Ryanosin’ even for freating

common fhe.” |

Akash : “They have to attar all

pharma company ‘WynPharma®

. pays them a haﬂdsﬂmﬂ-
~:£0mmission.”

the department

(2) PO-Vertigo

' 'mfﬁiwd

Which combination !‘FE}I‘ESEHH

| that O works i
and the movie he likeg? g

(1) QM- Inceptign

(3) PO-Batman
{4} ACC-X-Men

Whao %ﬂmngst the
works in ADMIN?. .
(1) Other than Ehﬂse given aa

Options
Z2in

following |

(4] A

(81 B

Whlﬂh E}f i
does IJ like?
(1) Vertigo
(2] Batman
(3} Inception

(4} X-Men

(5) Titanic

Who amongst the following
works in PO?

e f GI }.GW‘ g | movies

(1) C (2) E

(3} A (4) G

(5] B

Ajay : “Even though “Sebatol”

hardly has any side effects,
strangely doctors in this hospital

Whlﬂh of the iﬂiiﬂmﬂgﬂmm hﬂ
. frem thﬂ
ﬂaﬁv&rﬁaﬂﬂn? . e
--_ﬂ}fanmsm is’ uged i“ﬂr trf;atmgf; -
diseases  other: thaﬁ GL’JM{}H
;fiu as. wal} B o

Gic P

-: gﬂfﬁﬂ S

-\,4-':.-:\--:

169, Read the following paragraph;
‘and answer the question hu:h:

follows:

ﬂghting the dlEE‘&SE reincer” s
never easy for anyone. However |
finding an  insurance to be
f1_11_anc1a§ly pz‘ﬁpaﬁ'ed or it
_ definitely is. For the disease]
Eequuﬂng a minimum of Rs, GO
lakh worth medical expenditure,

our insurance scheme offars 2 5
lakhs every vear for first five
vears followed by Rs. 10 lakhs

every subsequent vear- An|
aéfert sement by an insurance
company.

Which  of the fﬂiiawiﬂg

statements would prove {hat the

insurance policy is flawed in its

approach?

{1} The disease although serious
and cash intensive, is total
only in 23% of the cases,

{2} 75% of the entire amount for
treatment is required in the
first two of vyears of
contracting the disease,

{3) Expenses for treatment of the
disease do not fluctuate much
based on the intensity of

disease’ and the i}?pﬁ E‘f
hospitals.

(3) If both conclusions I and I
are irue.

(4) If enly conclusion 1 is true.
(5} If anly conclusion H is true.
Statements : Some shows are
plays. Some plays are movies. No
‘movie is theatre,

Coenclusions :

L All movies are nlays.

1. Some shows are denmiel y not

theatres.

Siaﬁﬂ'ﬂwﬂis . Some urns are jﬁgs’
All jugs are vessels. No vessel is a
plate.

Conclusions : :

I. Some plates being jugs is a
possibility.

H. All urns can never be plates,

Statements : All streets are
paths. Some streets are roads. All
roads are trails.

Conclusions :

L All trails being pﬂthﬂ- is a
pt}ssmﬂﬂy

I1. Atleast some gaﬁzs are roads,

Read the given iniaﬂﬁatiﬂﬂ ﬂ}:fd
answer the queatmﬂ i

ThHI’E has I}gﬁﬁ

170.

171.

172,

173.

- (4) If treated within 4 }raars ::rf ot

contracting ‘the disease; thel: .\

yﬂﬁﬂﬂt can: .:i}&-: Gﬂm?l@tﬁ}.«ﬁ’
: ﬂurﬁ-d of ﬂ:m dzsaﬂsa fnr Hf& -
iz} Eﬂth {E} and {4:1

e

......

......

i

g2y



174.

(4) State Y of Country 8, where almost 90% people
are vegetarians, has heen least affected by the
virus so far.

{5) Although many samples of packaged and fresh
meat were collected for testing from across the
couniry, not even one was found to be
contaminated with the virus.

Directions (174-178) : In these questions are given

four statements followed by five conclusions, one of

which definitely logically follows [or is a possibility of
occurrence) from the given statements. That
conclusion is your answer.

[NOTE : You have 1o take the four given statements
to be true even if they seem to be at variance from
commonly known facts and then decide which of
the given conclusions logically follows from the

given statements disregarding commonly known
facts]

Statements : Some logos are patents. All patents are
copyrights. Some copyrights are trademarks. Nﬂ

- copyright is goodwill. -

Cenclusions :
(1) At least some trademarks are patents.
(2] Some patents are goodwill.

- {3} All trademarks being 1ngc+s is a possibility.

175.

{4) No goodwill is a ir.:ga

(5] All logos are copyrights.

Statements : No text is a font. Some fonts are scripts.
Some scripts are essays. All essays are chapters.

Conclusions :

(1) Some fonts are daflmtely not chaytars

(2} Notextis an essay. .

:{3} All fﬁﬂt& are essays.

: {4} ﬁdl texts being scripts is a possibility.
.. A8} ﬁﬂaasi some chapters are texts.

" 'Directions, (176:181)

_ .- - gifting ﬁrﬂﬁﬂd a.citculartable but'not necessarily in |-

Study. feﬂamng .
e iﬂ}%?mﬁﬂﬂ ﬂm‘&fuﬂjf c:md answer t};ﬁ gwen
i E%hi tamily mﬁi‘ﬂbﬁxﬂ;fﬂsﬁl, R, S, F U ¥ aﬂd W are |

the same order:'Some of them are females and some

cr TR males: All.of them are related to each other in

R SOIIE are: fﬂﬂiﬂg uutszd& {,s e. ﬂppﬂsxte L
o tﬁ@hﬁﬂi’iﬁn } =

e WAy OF: the ﬂﬂ‘lﬂi‘ Some of them are facing the.

niesln it -’I‘ and R F'L is: ‘shﬂ daughter ﬂf

: , 1 :.:ﬁ . Eﬁighhnur of Q W is: ﬁ:i& wz,fe
Hesita t _fi tﬁ i:%&% mght ﬂf W S is ﬂﬂﬁhﬁf an

._._-.-;_f{”’%ﬁ”ﬁ wife sits to: ﬂ:a inﬁnadzata
. Pslts secand to the left of his.wife. . .
Only three Eﬂ’.&?fﬁ it between P and. his brﬂﬁaar
Both the immediate neighbours of R face opposite
directions. (i.e. if one neighbour faces the cenire

then the other ﬂﬂ%ﬁhﬁﬂr faces outside &Eﬁ

vicg-versa.)

. _g ﬂf{;} Q faces the ﬂeatm Qﬂl}rf

R's hushand sits to the immediate right of V. T and U
face a direction opposite to that of B (i.e. if P faces the
centre then T and U face outside and vice-versa.]

How many people sit between  and V's daughter
when counted from the laft of Q7

{1} None (2) Three
(3) Four (4} Two
(5} One
If it is given that Q is the father of V, then what is the
position of Q with respect to (U's son-in-law?
(1} Immediate right (2) Second to the left
(3} Third to the right (4) Third to the left
{5] Second to the right
Which of the following statements regarding V is
definitely correct?
(1) V is the sister of T.
(2} V sits second to the left of U.
(3) Q and P are immediate neighbours of V.
{4) None of the given options is correct.
(5) V is the sister-in-law of U,
Who amongst the following faces the centre?
(1) R (2) T
(3) V (4) P
(5) W
Who amongst the following sits exactly between R and
P when counted from the left of P?
(1)U (2) S
(3} W (4) T
(5) Q
Who amongst the fﬁﬂnwing sits third to the right of T7?
(1 U - (2) T’s father-in-law
(3} T’s nephew (4R
(5) T°s father
In which of the fnllnwmg expressmﬂs dues the
expression ‘L =T definitely hold true? - :
KL R=P R aT |
(2 U2T>2M=F<A>L
B} L<C>Q2B=N<T
{4)G=L=A<B<S<T
B TzE=G2W=Y2L - i
Directions (183-187) : Study the ﬁBﬂﬂWi‘Rg mfarﬂmtsﬂﬂ
- carefully and answer the given questions: - .
~ When-a word and pumbst arrangément: mchma is
..+ given an input line of words and numbers; it: arranges

them following a particular. rule Th& f&ﬂam isan
m‘.u {ﬁﬂ ﬁ;ﬂ ;

1786.
1Z7.

178.

178.

180.

181,

182.

X ﬂlllﬁfl‘ﬂilﬂﬂ of 111?11{ -dnd ; réarran
L num __"ars. are i‘wa digit numbarﬁ e :

Iﬂxpﬂtf cames 79 go:glacier 57.14. give: 36 ﬁﬂ ﬁﬁﬂﬂﬂl‘ 42 get

Siﬁ;ﬁ zlaci games:-79 go-57 give 86.63: g&wjﬂr 42 get 41

St&pllf g&ﬂéﬁ giaﬂlergamas 79 go 57 give 86 63 get 41 24

Etﬂpm games gendet ‘glagier 79 go’ gﬂra 86 63 get 41 24 75

ﬁttap W . give games gender glaciar 79 go 86 get 41 go 75 36

&tgpv g&i gﬁre SHIMes genéar glamer g0 86 41 24 75 36 97

ﬁiéﬂp ‘!JE g0 get give games gender glacier 41 z& 75 36 97 B8

1:Step. V1. is .the last step of the above aﬂaﬂggmmi: as the

intended arrangement is obtained.

As per the rules followed. in the. given sﬁ:ap&, ﬁmﬁ out the

@pmpnaia steps for the given input.

-:.-_1;-_: micre 63 make 19 mﬂralas ?’2 25. ﬂ:-.y map 48
margin 56




‘iﬁﬁ Which  of  the

333 Which element comes exduh

between ‘morales’ and ‘make’

in’
Step III of the given input?

(1) 683 (2) my
t3) 91 (4) micro
{5] 56

combinations represent the sixth
and eighth element in Step I of
the given input from left end?
(1) 63" and ‘margin’

(2} 'map’ and ‘6%’

(3) 72" and ‘margin’

{4) 72’ and ‘map’

(B} 48’ and ‘micrg’

185. If in the last step,2’ is added to

_each of the odd numbers and ‘1’
is subtracted from each of the
even numbers, then how many

numbers mulupie of '3’ will be
formed?

[3;] Two {2] Orie
(3) None {4) Three
{5) More than three

188. Which element is fourth to the left

of one which is ninth from the left
end in the second last step?

{1} micro (2} 72
{3) morales (4) 91
(5] margin
187, Ifin Step IV, 72 1nterchanges its
position with ‘'micro’ and
‘morales’ also interchanges iis

position with ‘91’ then which
element will be to the immediate

right of ‘91'7

Her 2 my

(3] 52¢ (4} ‘morales’
(5] 72’

188. Study the given information
carefully to answer the given
guestion.

A carners manufacturing

company ‘Puello’ brought a grim
fate for the existing market
leader ‘Zenon’ within five
months of its launch.

According to Puello’s Marketing
head, “Zenon perished only
because it could not update its
cameras as per the recent
technological advancements.”
Which of the following

statements’ negates the remark
made by Puello’s Marketing head?

£1) The zoom lenses launched by | | '.

Pusllc were so shofig’ thal
they beautifully captured
gven the intricate designs on
- the walls which were more
* sk TE fopt away.

following

1889,

(2) Zenon was the only camera !

manufacturing company |
which had been successfully
selling remote controlled

cameras for the last two years. |
(3) Zenon cameras had alwavs
supported. heavy price tags as :
compared fo its counterparis.
But the picture quality it

produced was unparaileled.

4) Just a week before Puello’s
faunch, a small part of one of
the Zenon’s factories caughni
fire due to short circuit.

(5) The body designs of the

Cameras manutactured by

Puello were more or less same

as those of Zenon, but ‘Zenon’
offered a wide vaﬂety of
cnlﬂurs S
Study the

given information

carefully to answer the given

guestion.

~ “Jt is only because of the ahsence

'- (4) Zyver

of ‘Kodal’ pulses in the diet of the
younger generation, that the
incidence of Zyver disease has
drastically shot up across the
country - Dr. XYZ.,

Which of the following can be
inferred from the Doctor's
statement?

(An inference is something by
which you can logically deduce
something to be true based on
known promises.)

{1} The older generation
compulsorily includes a good
amount of 'Kodal’ pulses in
their daily diet.

(2] Even a little amount of Kodal

in your diet will keep you

away from being aﬁaﬂtﬂd byl

Zyver disease.
(3) No medicine

developed as of now which

can cure Zyver completely.
disease only

has been!

Ay
-.-.: -. .
} -i-i i

(zive answer !

{1} If the data in statement
I alene are sufficient to
answer the guestion, while
the data in statement II alone
are not sufficient to answer
the question.

(2} If the data in statement II
alone are sufficient to answer
the question, while the data in

statemnent I zlone are not
sufficieni to sanswer the
question.

(3} If the data either in statement
I alope or in statement II
alonse are smﬁmen‘t to answer
- the question,

(4} I the data given in hﬂﬂ:ﬁ
statements I and Il together
are not sufficient to answer
 the question.

(5] f the data given in bﬂﬁl

 statements 1 and II together
are necessary to answer the
guestion.

190. How far is Point S from Point T7

1. Point S is 5m north of Point K.
Point G is 4m io the east of
Point S. Point P is 2.5m to the
north of Point G. Point R is
5.5m to the west of Point P,
Point T is 2.5m to the E{}uth ﬂf
Point R.

II. Point T is 5m tﬂ the east ﬂf
Point L. Point Z is 10m fo the
east of point T. Point 8 and G
He between Point 7 and L, .
such that points 7, G; 8 and L
forny a straight line:

191. Among M. N O; ?Qﬁﬂﬁam

baving o diffront heigt, who s

. people who are baiaw gl o B8 ;

years of age,

(5) Ome of the Eﬁﬁaﬁmﬂﬂw . f
Kodal'acts asacure to Zyver. |
4] udstions ggﬂgfgf @f ﬁ iﬁi ﬁSﬁ ﬂ;ﬂ
. and two Statements: H:_:; Egisad
- and Hgiven below them, You have
,@&mﬁf““ﬁ_ ﬁ
in the statements are gg;ﬁgi .
answer the questions, Read both

Directions {mﬂ»m@}

the Efﬂ?ﬂﬂ‘iﬂﬂiﬂ ﬁﬂ&' ﬂ&m if‘zﬂ‘




183. How many people are standing

184,

bétween K and L in a straight

line of 15 people (Note: All are

standing in a straight line facing

north)?

L. 3 stands eleventh from the
right end of the line. L stands
exactly at the centve of the
~ line. There are as many people
to the right of K as there are to
the left of S.

IL R stands fourth from the left
end of the line, S is an
immediate neighbour of R
Only two people stand
between L and S. Only two
people stand between K anti S.

How is N related to J?

I. Kis the mother of Dand J. D is
married to B. B is the only
child of 8. N is the
granddaughter of S.

H. S is the mother of B, N is the
daughter of B. B is married to
1. J is the only sibling of D.

Directions {195-200) : Study the|

faﬁﬂﬁqﬂg information fo answer
the given questions.

Seven trains are bound to travel
to different cities wz Delhi,
Mumbai, Patna,  Kanpur,
Chennai, .Guwahati- and. Surat

from Monday to Sunday of the|
- same week, Fach train leaves at a
different time viz. 2pm, 3pm,

. 4pm, 5pm, ﬁpm., 7pm and 8 pm

0 thes
. Hﬂﬂﬁﬁﬁﬁxﬂ}f in the same order.

on 11:3 respective ‘days. None of
‘information  given s

The Chennai bound frain leaves

v 0B Thursday, but.not at 8 pm:
el ':?’I’h&raasra only: twe-days between

nai bound train and the

o tr&m w}uﬂﬁ léavesat 3 pm.
‘There ars only two days between

‘traif and the

ain leay ves: 311 one af t}za

fi'd Haih is

::.j.-.:: éﬂﬁ‘ﬂ"ﬂﬂ &f_ 4 I}m Surat |
..;aaﬁ"'Wa&ﬂ%day. y

195,

196.

than the train which s
scheduled on Friday
example, i the train scheduled
to leave on Friday leaves at 5 pm
then the train on Saturday leaves
at 4, 3 or 2 pm.}

The Mumbai bound train is
scheduled on a day immediately
before the train which leaves at 7

'pm. Neither the Surat nor the

Chennai bound train leaves at 7

pim. '

The Guwahati bound train leaves

at 6 pm.

There iz a difference of exactly

three hours between the Delhi

and the Patna bound trains.

Deihi bound train leaves on a

time earlier than the Patna bound

train. (For example, if Delhi
bound train leaves at 5 pm, then

Patna bound train leaves at 8 pm

on its respective day.) ;

Which train leaves on the day

immediately after the day on

which the Patna bound train
leaves? |

(1) The train which leaves on
Thursday.

(2} The train which leaves at 5
p.m.

{3) The frain which leaves at 5
p.im.

{4) None as the Patha bound train
leaves on Sunday.

{6) The Surat bound train.

Which of the following trains

leaves at 3 pm?

(1) The frain scheduled on the
day immediately after the
Patna bound train

(2} The Mumbai bound train

(3) The Kanpur bound train

(4) The train
Sunday |

. 45) The Train which is scheduled

197,
‘hours after the Chennai hound
. train on its scheduled day?

Mﬂnday | |

 on Friday
Which train leaves exactly 3

(1) The Kanpur bound train
{2} The. train which leaves on

{For

scheduled on -

198.

198,

200.

{3) The train which leaves op

Sunday
{4) The train which leaves at 7

[T
{5) The Surat bound train
On which of the following days
does the Guwahati bound train
leave?

(1) Monday {2} Wednesday
(3) Saturday  [4) Tuesday
(5) Sunday

The Delhi bound train reaches
Delhi in 6 hours after its start. If a
person travels to Mathura from
Delhi which takes two more
hours {including the transition
fime) from Delhi, at whal time
will he reach Mathura?

(1) 1 am next day

{2) 10 pm in the night

(3) 12 O’clock midnight

(4} 2 am next day

(5) 11 pm in the night

Read the following information
and answer the given question,

Major part of revenues from
tourism in Country X comes
from State Z, however in the past
two years the number of tourists
coming to State Z has reduced
drastically.

Which of the following

statements cannot be a reason for

the given problems? :

(1) Country X decided to adapt
strict visa norms in the
previous year after receiving
threats of bomb blasts.

{2} More than 5 tﬂmts

. injured due to, Iﬂﬂ{iﬂhdﬂ in
St&teziaﬂtveazl_,__ ;o !

_(3) The currency of Gauntry X

appremata& by 5% fﬂf 2 years:.
consectutively,

| i-&*} The incidence of i‘{}bhaﬂas in

State Z . has ‘doubled ‘in the
past couple of years,

(5) The luxury tax in State Z

increased substantially
among tourist destinations in
Country X two years ago.

R
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